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QUESTION 1
Click on the Exhibit Button to view the Formula Sheet.

How many USD would you have to invest at 3.5% to be repaid USD125 million (principal
plus interest) in 30 days?

INTEREST RATE CONVERSIONS
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3k5

ratebbndbiSE = rate Mon2y Maret bases 60

360

rat ic =l1a _—
ernoneym:'kat kasis taannd hagis 365

Canvertng betwsen annually and semi-annually compounding frequencies

semi-anrually compourdad ] 1

rate
rateannu:lfy-wmpuundai =1+ 7

? = . 1]z
Vate coriarnualy compounded [JI *1ate o ally comprunded 1)"

The formuias for conveding hefween shnually and semi-annually

compounded rate anply only to rates quoied on @ hond basis, nat a manel
mariet hasis.

www.exam24.net original question and answer



MONEY MARKET

Certificates of deposit

proceeds st matunty = face value (1 + coupon xtem)
annual basis

secondary market proceeds = pm?eds ShmBILIEY
5 yield » day count

annual basis

Diszount-payi ng insruments quoted as a rrue yield
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2 yield ¥ day count
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secondary marke! proceeds =
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Diszourt-payving instruments quoted as a rate of discount

ra:2 of discount « day court
annual basis

discount amount = face value

&, rate of discount x day count
secondary markel proceeds = face value |1- -
annual bagig
rate of discount
rate of discount x day count
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frue yield=
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Fornard price of selllbuy-back

(repurchase price - accruad interest on collaiaral at terminstio n)1m
narminal price of collateral

forwerd price =
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FORWARD-FORWARDS & FORVJARD RATE AGREENENTS

forward - forward rate =

inferest rateg, ooy % day count oo

1+ !
znnual basis o annual basis

2 interest 192 cpo penng X 93Y COUN shen parca day COUNt foraand forward pariod

annual basis

armual basis

[ [FRA rate - settlement rate) st d ay couat ]
ERA sctflement amount —notional princigal amount -
[ 1 setilement rate = day count ]

armual basis

FIXED INCOME

Clean and dirty price of bond with annual coupons on coupon date

price =
1

100 coupon 1- 1 .
wdd (‘ * yseldy‘"‘"" COUDINS [1 + yeldf"""""”‘"”"‘

Dinty price of bond with annual coupons

ditty pnce =
first cashflow = sacond cashilow ks n™ cashflow
day st nevicoupan dayrivaent covpon xy¥ionert coupan
{1+ yield) v {1+ yiale)* o = (1 + yialg) bW i Vasis

Duration at Issue or on a coupon date

Macaulay Duraton =
[present value of first coupon amount x time to fest coupon) +
(presentvalue of secondcoupon amount X time to secondcoupen) + ...
+[presentvalue of (last coupon amaunt + nominal amount ) tirme to kast coupon

net present value of bond

Modiied Durstion: = y—teceuisy Diitetian
yield ]

, & S L SR
compoundin g frequancy

Calculating zero-coupon vield from an annual vield-ta-matunity (bootstrapping)

2010 - coupon yweldfor n- year term

% final coupon amounrt + nominal amount ~1hoo
implied present value of final coupon and nominal amaunt

The implied present value of the final coupon and nominal amount is calculated by subtracting
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FOREIGN EXCHANGE

Forward FX rate

interect rate % day count

quoted cumency
annual basis o oied surercy

interest rate pace cumency * 42y COUNt
%

+

forward rate = spoi rate
1

annual basis pz, camency

Covered interest arbitrage

synthetfic quoted curency interest rate =

[[(1 > interest rale yuce cymeney ¥ A3y count ]fgrward rate ] _11 annusl basisqumd sumency

annual 2381S4aze sumensy spot rate day cournt

synthetic base curreacy interestrate =
[[{1 , INMBIBSH 118 jura cumency € 13 :ount] spoi rate ]- ]l ANNUEI BESiSyca curarey

annual 13siS guped cumency forward ree day count

OPTIONS
Standard deviation
Z(retum at time t - mean return)2
Fs |

staadard deviation =

nurnber ul vbsevelivng -1

Calculating the valatility aver a period from annualised valati ity

volalility over period t = annualisad volatilltny
Whare t is in years or fractions thereof.

A. USD 124,641,442.43
B. USD 124,636,476.94
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C. USD 124,635,416.67
D. USD 123,915,737.30

Answer: B

QUESTION 2
Click on the Exhibit Button to view the Formula Sheet.
What is the day count/annual basis convention for euroyen deposits?

Actual/365
Actual/360
Actual/actual
30E/360

o0 W

Answer: B

QUESTION 3

Click on the Exhibit Button to view the Formula Sheet. Todays date is Thursday 12th
December.

What is the spot value date?Assume no bank holidays.

14th December
15th December
16th December
17th December

o0 W

Answer: C

QUESTION 4
Click on the Exhibit Button to view the Formula Sheet. EURIBOR is the:

Daily fixing of EUR interbank deposit rates in the European market
Daily fixing of EUR interbank deposit rates in the London market
Another name for EUR LIBOR

The ECB:s official repo rate

OO0 W

Answer: A

QUESTION 5
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Click on the Exhibit Button to view the Formula Sheet. Which of the following rates
represents the highest investment yield in the euromarket?

A. Semi-annual bond yield of 3.75 %

B. Annual bond yield of 3.75 %

C. Semi-annual money market yield of 3.75 %
D. Annual money market rate of 3.75 %
Answer: C

QUESTION 6

Click on the Exhibit Button to view the Formula Sheet. Which of the following
are transferable instruments?

A. Eurocertificate of deposit
B. US Treasury bill

C. CP

D. All of the above

Answer: D

QUESTION 7

Click on the Exhibit Button to view the Formula Sheet. Which of the following is
always a secured instrument?

A. ECP

B. Repo

C. Interbank deposit
D. CD

Answer: B
QUESTION 8

Click on the Exhibit Button to view the Formula Sheet. Which of the following is
sometimes called two-name paper?

A. ECP

B. BA or bank bill
C. Treasury bill
D. CD

www.exam24.net original question and answer



Answer: B

QUESTION 9

Click on the Exhibit Button to view the Formula Sheet. What usually happens to the
collateral in a

tri-party repo?

A. ltis put at the disposal of the buyer

B. Itis held by the seller in the name of the buyer

C. ltis held by the tri-party agent in the name of the buyer
D. ltis frozen in the sellers account with the tri-party agent
Answer: C

QUESTION 10

Click on the Exhibit Button to view the Formula Sheet. Which type of repo is the least
risky for the buyer?

A. Delivery repo

B. HIC repo

C. Tri-party repo

D. There is no real difference
Answer: A

QUESTION 11

Click on the Exhibit Button to view the Formula Sheet.

A customer gives you GBP 25 million at 6.625% same day for 7 days. Through a broker
you place the funds with a bank for the same period at 6.6875%. Brokerage is charged
at 2 basis points per annum.What is the net profit or loss on the deal?

A. Profit of GBP 299.66
B. Profit of GBP 203.77
C. Loss of GBP 299.66
D. Loss of GBP 203.77
Answer: B

QUESTION 12

Click on the Exhibit Button to view the Formula Sheet.What are the secondary market
proceeds of a CD with a face value of EUR 5 million and a coupon of 3% that was issued
at par for 182 days and is now trading at 3%but with only 7 days remaining to maturity?
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EUR 4,997,085.03
EUR 5,000,000.00
EUR 5,071,086.45
EUR 5,072,874.16

Cow>

Answer: D

QUESTION 13

Click on the Exhibit Button to view the Formula Sheet. A CD with a face value of USD50
million and a coupon of 4.50% was issued at par for 90 days and is now trading at 4.50%
with 30 days remaining to maturity.What has been the capital gain or loss since issue?

+USD 373,599.00
+USD 186,099.00
-USD 1,400.99
Nil

Cow>

Answer: C

QUESTION 14

Click on the Exhibit Button to view the Formula Sheet. The tom/next GC repo rate
forGerman government bonds is quoted to you at 1.75-80%.As collateral, you sell
EUR10million nominal of the 5.25% bund July 2012, which is worth EUR 11,260,000, with
no initial margin. The Repurchase Price is:

EUR 10,000,500.00
EUR 10,000,486.11
EUR 11,260,563.00
EUR 11,260,547.36

Cow>

Answer: C

QUESTION 15

Click on the Exhibit Button to view the Formula Sheet. The one-month (31-day) GC repo
rate for French government bonds is quoted to you at 3.75-80%.As collateral, you are
offered EUR25million nominal of the 5.5%OATApril 2006, which is worth EUR 28,137,500.
If you impose an initial margin of 1%, the Repurchase Price is:

A. EUR 27,947,276.43
B. EUR 27,946,077.08
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C. EUR 27,950,071.43
D. EUR 27,948,871.97

Answer: D
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